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ΠΒ/ 2,Χ /] 9 ; 00 Μ + = / + Θ Θ+ 3 />Π >Π/& &/ <= ΠΒ / ∀+ = Α = / = &,Χ<=

<= ΠΒ/ ,7 ; ; 9
5

Δ Β/ &3<>Π<= / / = [ <3 + = . / = Π Ζ Χ > ,Χ 3 Α / ,Ο

<=Π Χ / Π
5

?−Π <= ΠΒ / : ; ; ; 9 ,

ΠΒ / ,盼Ρ >/Χ∴ / + Θ ΠΒ / &,Χ <= ΒΧ >

/ ΒΧ= Α /Ρ Χ∴ &Χ3 /= Π,Ο Φ <ΠΒ ΠΒ / Χ > ><>ΠΧ = / / + Θ #  ∀
,

ΠΒ /

Σ Β Χ = Α <= Α [ Χ ,− / > + Θ ΠΒ/ ,Χ= Ρ / + [ /3 Ζ / 3/ Σ Χ ,Σ − ,Χ Π/ Ρ

ΚΔ Χ2 ,/ ,Ψ
5

∋ / / + 3Ρ <= Α Π+ Δ Χ 2,/ ,
,

= ΧΠ− 3 Χ , Σ + [ / 3 <= ΠΒ/ ∀ + = Α ,/ = &,Χ<=

ΠΒ / : ; ; ; 9
5

ΠΒ / /ΒΧ= Α Σ > + Θ ΠΒ/

3/ Χ/ Β/ Ρ Π+ 6 ;ε <=

∀<= / / ΠΒ/ : ; ΠΒ / / = Π− 3Ο
, Χ,+ = Α Ζ <ΠΒ ΠΒ/ / + = >

Π,[
/ Π<+ =



� Χ ΠΧ > Π3 + &Β</ ! / + 一/ = [ <3 + = . / = ΠΧ ,� ΒΧ = Α / 一= ΠΒ / ∀ + = Α = / = &,Χ <=
,

) + 3Π Β/ Χ >Π/ 3= � Β,= Χ ∀ <= // 07 ; ; 9
0 8 0

Δ Χ 2,/ 0 � ΒΧ = Α <= Α [ Χ ,− / > + Θ Ρ <ΘΘ/
3/ = Π ,Χ = Ρ ΠΟ&/ >

一= ΠΒ / ∀ + = Α = / = &,Χ <= Θ+ 3 3/ / / = Π 0 ; ; Ο/ Χ 3>

ΠΒ/ &,Χ <= Β Χ [ / Α /= /3 Χ,,Ο Σ ΒΧ = Α / Ρ
5

Δ即 /> + Θ ,Χ = Ρ / + [ / 3 07 7 ; 9

Κ] .
Μ

Ψ

: ; ; ; 9

Κ] .
4

Ψ

� Β Χ = Α ,= Α

[ Χ ,− / >

� ΒΧ = Α 一= Α

0飞,Π,+

Κ] 3=
4

Ψ Κε Ψ

β+ 3/ > Π
一

Α 3 Χ > >,Χ = Ρ Ν 7 Ξ 8 9 ; 一Ν 7 Ξ 8 9 一 0 8 1 :

∀ Χ [Χ = = Χ 8 09 8 0Ν 07 一Ξ 8Ν 7 一 Ν
5

0 6

∀ / 3− 2
一
> Χ [ Χ = = Χ ; Ν Ν 1 φ Ν Ν 1 十; 0Ξ

∀ / / + = Ρ Χ3Ο Θ+ 3/ > Π
一
> / 3− 2 ; Ν 6 Ν 8 φ Ν 6 Ν 8 φ 0

5

6 1

# 3 Χ > >,Χ = Ρ : ; 07 8 01 9 8 6 一9 Ξ 0 0 一: 石;

Ε /Χ Ρ +Ζ 1 1 : Ξ Ν 09 Ν ; 1 一: 8 7 9 7 一 0Ν
5

1 1

βΧ
3. ,Χ = Ρ : Ξ 9 0Ξ 0Ν 0Ν : 7 φ 0; 1 8 0Ν φ 1 8 石Ξ

∀Ζ Χ . & 6 1 7 06 Ν 8 6 0; 一Ν Ξ : ; 6 一 0Ξ 名,

(Χ ] / 0Ξ 7 ; 01 9 : 一: Ν 8 一; 0 0

∋ γ] Χ ,一Ρ / > /3Π ; : ; 9 0 φ : ; 9 0 φ ; 兮9

∋  ] Χ ,一> / . <
一

Ρ / >/3Π ; 1 8 : 7 φ 1 8 : 7 φ : : 1

∀ Χ = Ρ Ο >/. 一Ρ / >/ 3Π ; 06 61 φ 06 61 φ ;名:

+ Θ 3Χ <,Ζ Χ Ο Χ = Ρ Β<Α ΒΖ Χ Ο = / Π <= ΠΒ/ 3/ Α <+ = ,

<. . <Α 3Χ Π<+ =

3/ Χ/ Β/Ρ Π+ / ,<. Χ Γ Χ = Ρ ΠΒ/ 3/ Α <+ = Χ , &+ &− ,Χ Π<+ = / Γ &/ 3 <
⊥

/ = Σ /Ρ Χ = / Γ &,+ ><[ / Α 3 +
ΖΠ Β

5

Δ Β / ,Χ3Α /一 > / Χ ,/ Ρ <] /> Χ = Ρ

+ ΠΒ/ 3 <= Θ3 Χ > Π3− / Π− 3/ > ΒΧ [ / 2 // = 2 − <,Π Θ+ 3 3Χ &<Ρ − 32 Χ =

/ Γ &Χ = ><+ = ><= / / ΠΒ/ Θ+ − = Ρ <= Α + Θ ΠΒ/ ∴ / + &,/
’9 % /&− 2,</

+ Θ � Β<= Χ <= 07 1 7
5

Δ Β/3 / Θ+ 3/ ΠΒ/ = Χ Π− 3Χ , [ / Α / ΠΧ Π<+ = Ζ Χ >

,Χ 3Α /,Ο Ρ / >Π3 + Ο/Ρ Χ = Ρ ΠΒ / = Χ Π− 3Χ , / = [ <3 + = . /= Π Α 3/ Χ Π,Ο

/ΒΧ = Α /Ρ
, 3 />− ,Π<= Α <= Ρ <>Χ&&/ Χ 3 Χ = / / + Θ Ζ Β+ ,/ Θ+ 3 / >Π

⊥

Α 3 Χ >> ,Χ = Ρ Χ = Ρ ,Χ 3Α / &Χ 3Π > + Θ >Χ[ Χ = = Χ
5

# 3Χ >>,Χ = Ρ > ,

. / Χ ⊥

Ρ + Ζ > + = ΠΒ/ Β <ΑΒ Π/ 3 3Χ / / > Χ = Ρ Ζ / Π,Χ = Ρ > Χ
Ρ≅

Χ / / = Π Π+

3<[ / 3 > <= ΠΒ/ . <Ρ Ρ ,/ + Θ ΠΒ/ &,Χ <= ΒΧ [ / 2 / / = Α / = / 3 Χ,,Ο

Ρ /[ / ,+ &/Ρ + 3 Β/ Χ [ <,Ο + [ / 3 一Α 3 Χ Μ /Ρ
5

Ν
5

: � Β Χ = Α / + ΘΦ
Χ Π/ 3 ∀Ο >Π/ .

? / Θ+ 3/ ΠΒ/ : ; ΠΒ / / = Π− 3Ο
,
ΠΒ/ Ζ Χ Π/ 3 >Ο> Π/ . >Π3− / Π− 3 / Χ = Ρ

ΒΟΡ 3 + ,+ Α </ Χ , &3+ / / > > Ζ Χ > ,Χ 3Α / ,Ο <= ΠΧ / Π <= ΠΒ/ ∀+ = Α = / =

&,Χ<=
5

&/ 3<+ Ρ </ Χ, Θ, + + Ρ <= Α Χ= Ρ Ζ Χ = Ρ / 3 <= Α + Θ ΠΒ/ ∀ + = Α
⊥

Β−
Χ≅ <Χ = Α % <[ / 3 Χ = Ρ <Π> Π3<2 − ΠΧ 3</> &3+ [ <Ρ /Ρ > − ΘΘ< / </= Π

Ζ Χ Π/ 3 > − &&,</> Θ+ 3 ,Χ ] / > Χ = Ρ Ζ / Π,Χ = Ρ >
5

Φ <ΠΒ &+ &− ,Χ Π<+ =

<= Σ 3 /Χ >/ , Χ = Ρ ΠΒ/ Χ / Σ + . &Χ = </Ρ Σ + = > Π3− / Π<+ = + Θ [ Χ 3 <+ − >

&3
+≅

//Π> > − Σ Β Χ > Β <Α ΒΖ ΧΟ> Χ = Ρ 3Χ <,Ζ ΧΟ > , Χ = Ρ Ζ Χ Π/3 Ρ <[
⊥

/3 ><+ = Χ = Ρ Θ, + + Ρ
一/ + = Π3+ , Ρ <] / > , > + . / + &/ = + − ΠΘ, + Ζ 3/ ⊥

Α <+ = > Ζ /3/ Σ ,+ >/Ρ
, 3/ >− ,Π<= Α <= > /. <

一

<= Θ, + Ζ Ζ Χ Π/ 3 >Ο> ⊥

Π/. >
5

 = ΠΒ/ . / Χ = Π<. / ,
ΠΒ / >ΠΧ = Ρ <= Α Ζ Χ Π/3 2 + ΡΟ <= ΠΒ /

3/ >/3[ + <3 > Χ

ΘΘ/
/ Π/Ρ ΠΒ/ ⎯ − Χ ,<ΠΟ Χ = Ρ ⎯ − Χ = Π<ΠΟ + Θ > − 3 ⊥

3+ − = Ρ <= Α Ζ Χ Π/ 3 >
,

Ζ Β</ Β / Χ − >/ Ρ > + . / ,Χ] /> Χ = Ρ >Ζ Χ .
⊥

&> Π+ 2 / >ΒΧ ,,+ Ζ / 3 ,

Ρ 3 </ 3 Χ = Ρ . + 3/ Β Χ ,</ Κ(Ι / Π 。
汉

5

: ; ; ; Ψ
5

∋ > Χ 3 / >− ,Π + ΘΠΒ/ Σ + = >Π3− /Π<+ = + Θ Λ <Χ = Α ΒΧ < % / > ⊥

/ 3 [ + <3
,
ΠΒ/ Θ, + + Ρ &/Χ] 3− = + ΘΘ <= ΠΒ/ Ρ + Ζ = >Π3 /Χ . + Θ ΠΒ/

� − + ,<= Β/ % <[ / 3 Ρ / Σ 3 /Χ >/Ρ >ΒΧ3∴ ,Ο Χ = Ρ / [ / = ,/ Χ Ρ Π+ ΠΒ/

23/ Χ ] + Θ ! . ⎯ <= % <[ / 3 <= Ρ 3Χ <= Χ Α / Χ 3/ Χ + Θ ΠΒ/ � − + ,<= Β/

% <[ / 3 Κ(,
/ 3 耐

5

,

07 7 8 Ψ
5

Δ Β/ Π+ ΠΧ , Χ ,] Χ ,<= <ΠΟ /ΒΧ = Α / Ρ

Θ3 + . Ν 0; 一 Ν 9 ; . Α η( <= − &>Π3 / Χ . Π+ 9 Ξ ; 一9 8; . Α η ( <=

. <Ρ Ρ ,/
一

Ρ + Ζ = >Π3 / Χ .
5

∋ ,, . / = Π<+ = /Ρ Χ2 + [ /  = Ρ </ Χ Π/ ΠΒΧ Π

ΠΒ/ Ζ Χ Π/ 3 >Ο> Π/. >Π3− / Π− 3/ Χ = Ρ ΒΟΡ 3 + ,+ Α </ Χ, &3+ // > > <=

Ν
5

Ν Υ / >/ 3 Π<Θ< /Χ Π<+ = Υ / [ /,+ &. /= Π

∋ / Σ + 3Ρ <= Α Π+ ΠΒ /  = Π/ 3 = 以<+ = 滋 肠
= Μ / = Π<+ = 0; 肠 . 2以

Υ / 、/ 3Π诉
‘
·

以 0; Ω ς

ΚΔ Β/ ∀/ / 3 / ΠΧ 3<Χ Π + Θ (ϑ) � � Υ
,

07 7 1 Ψ
,

Ρ / ⊥

> / 3Π<Θ< / ΧΠ<+ = <= Σ ,− Ρ / > Χ ,, ]<= Ρ > + Θ / = [ <3+ = . / = ΠΧ, Ρ / Α 3Χ
⊥

Ρ Χ Π<+ = > − Σ Β Χ > >Χ = ΡΟ Ρ / >/3Π <Θ< Σ Χ Π<+ = , >Χ ,<= / 一 Χ,] Χ ,<Μ Χ Π<+ = ,

Α 3 Χ>>,Χ = Ρ Ρ /Α 3 ΧΡ Χ Π<+ = , Χ = Ρ 9; 00 / 3 + ><+ =
5

Υ − 3 <= Α ΠΒ / &Χ >Π

0; ; Ο/ Χ 3 > ,

ΠΒ/ Ρ /[ / ,+ &. /= Π 3 Χ Π/ > + Θ Ρ / > / 3Π<Θ< / Χ Π<+ = <=

ΠΒ/ &,Χ <= Ζ / 3/ Χ,Χ 3. <= Α
, 3/ >− ,Π<= Α <= ΠΒ/ Θ+ 3. Χ Π<+ = + Θ

,Χ 3 Α / Χ 3/Χ > + ΘΡ / > /3Π > Χ = Ρ > / . <
一

Ρ / >/ 3Π >
5

ϑ
5

ϑ
5

 ∀Χ
=
ΡΟ Ρ/

>/探笼斤
Σ Χ Π< + =

∀ Χ = ΡΟ Ρ / > /3Π <Θ< / Χ Π<+ = + Θ ΠΒ/ ∀+ = Α = /= ∴ ,Χ <= . Χ <= ,Ο + Σ ⊥

Σ − 33 / Ρ <= ∀ + = Α = / = >Χ = ΡΟ ,Χ = Ρ
5

Δ Β / 2 Χ ></ Α / + . + 3&Β + ,
⊥

+ Α Ο + Θ ΠΒ/ Χ 3 /Χ 09 Χ = Χ ,,− [ <Χ , &,Χ <= + [ / 3 ,Χ <= 2 Ο Ρ − = /

ΚΜ � − Χ = Ρ ( Ι
,

07 8 7 Ψ
5

Δ Β/ Π+ ΠΧ , Χ 3/ Χ + Θ ΠΒ/ ∀+ = Α = / =

> Χ = ΡΟ ,Χ = Ρ 09 Ξ
5

09 Γ ,; ΞΒ Χ ,

2 /<= Α : 6ε + Θ ΠΒ / Π+ ΠΧ , ,Χ = Ρ

Χ 3 / Χ Κ( ,
,

07 7 7 ς α  Ι / Μ 滋
5 ,

07 7 9 Ψ
5

Δ Β/ ,Χ 3 Α / 一>/Χ ,/ Ρ / [ / ,+ &. / = Π + Θ ∀+ = Α = / = >Χ = ΡΟ ,Χ = Ρ

2 / Α Χ = <= ΠΒ/ . <Ρ
一

: ; ΠΒ / / = Π− 3Ο
,

2 − Π ΠΒ / 3Χ Π/ + Θ Ρ / > /3Π <Θ<
⊥

/Χ Π<+ = Ζ Χ > Χ,Χ 3. <= Α
5

 = ΠΒ/ 2 / Α <= = <= Α + Θ ΠΒ/ : ; ΠΒ Σ / = ⊥

Π− 3Ο
,

ΠΒ/ 3/ Ζ Χ> = + Π Θ, Χ ]Ο >Χ = ΡΟ ,Χ = Ρ ς 2 − Π 2Ο ΠΒ/ / = Ρ + Θ

ΠΒ / : ; ΠΒ / /= Π− 3Ο
,

ΠΒ / Χ 3/ Χ + Θ Ρ / >/ 3Π <Θ< /Ρ ,Χ = Ρ ΒΧ Ρ

3 /Χ / Β/Ρ Π+ 9
5

7 Ξ Γ ,; ΞΒ Χ Κ( , Χ = Ρ 4 � ∃ Ι
,

: ; ; 0 Ψ
5

∀ <= / /

ΠΒ/ ,ΧΠ/ 0 7 8 ; 9 , > Χ = ΡΟ Ρ / > /3Π <Θ< Σ Χ Π<+ = ΒΧ > 2 / / = <= / 3/ Χ > ⊥

<= Α ΧΠ Χ 3 Χ Π/ + Θ ;
5

8ε Κ(,
,

07 7 6 Ψ
5

ϑ
5

ϑ
5

: ∀Χ ,< = / 一Χ ,] Χ ,<之Χ Π< + =

Δ Β/ ∀+ = Α = / = &,Χ <= 09 + = / + Θ ΠΒ/ ΠΒ 3/ / . Χ≅
+ 3 Ρ <> Π3 <2 − ⊥

Π<+ = 3 / Α <+ = > + Θ >+ Ρ Χ > Χ ,<= / 一Χ ,] Χ ,< 9 ; 00 <= ΠΒ/ Ζ + 3,Ρ
5

Δ Β/

Β Χ,</ 9 ; 009 Χ 3 / . Χ <= ,Ο Ρ <>Π3< 2 − Π/ Ρ <= ΠΒ/ Ζ / > Π/3= &Χ 3Π + Θ

ΠΒ/ &,Χ <=
5

Δ Β/ Χ 3/ Χ + Θ > Χ ,<= / 一Χ ,] Χ,<Μ Χ Π<+ = ,Χ = Ρ Χ . + − = Π/Ρ

Π+ + = ,Ο : 1 ; Γ 0; Ξ
ΒΧ <= ΠΒ/ 07 9 ; 9 Ω 2 − Π 2Ο ΠΒ / 2 /Α <= = <= Α

+ Θ ΠΒ/ 07 7 ; 9 ,

<Π Β ΧΡ 3/ Χ Σ Β/ Ρ Π+ Ν
,

: ; Γ ,;七Χ ς Χ = Ρ <Π 09

> Π<,, <= Σ 3 / Χ ><= Α ΧΠ Χ 3Χ Π/ + Θ : ; Γ ,; Ν
Β Χ η Χ

5

Δ Β/ 3/ / / = Π Ρ / ⊥

[ / ,+ &. / = Π + Θ ΠΒ/ > Χ ,<= / 一Χ ,] Χ,<Μ Χ Π<+ = ,Χ = Ρ Ζ Χ > Σ Χ − >/ Ρ

. Χ ,= ,Ο 2Ο >Χ ,<= / 一 Χ ,] Χ ,<Μ ΧΠ<+ = + Θ Α 3 Χ > >,Χ = Ρ
,

ΘΧ 3. ,Χ = Ρ Χ = Ρ

Ζ / Π,Χ = Ρ Κ(,
,

: ; ; ; Ψ
5

∀ <= / / ΠΒ/ 07 ; ; 9 ,

ΠΒ/ ,Χ = Ρ >Χ ,<= / 一Χ ,
⊥

] Χ ,<Μ ΧΠ<+ = ΒΧ> 2 / / = Χ Σ Σ /,/ 3 Χ Π<= Α Χ Π Χ 3ΧΠ/ + Θ 0
5

9ε &/ 3

Ο/Χ 3 Κα  Ι
,

: ; ; 0Ψ
5

ϑ
5

ϑ
5

ϑ # 3Χ >> ,Χ = Ρ Ρ/ Α 3Χ ΡΧ 如
=

Δ Β/ Α 3 Χ >> ,Χ = Ρ > <= ΠΒ/ ∀+ = Α = / = &,Χ <= Ζ / 3 / ,+ Σ Χ Π/ Ρ <= ΠΒ/

// = Π3Χ , &Χ3Π + Θ ΠΒ/ = + 3Π Β / Χ >Π/ 3= � Β<= Χ
5

� + Ζ / [ / 3 ,

. + >Π

+ Θ ΠΒ + > / Α 3 Χ >>,Χ = Ρ > Β ΧΡ Ρ / Α3 Χ Ρ / Ρ <= ΠΒ / / = Ρ + Θ ΠΒ/ : ; ΠΒ

/ / = Π− 3Ο
5

 = ΠΒ/ Ρ / Α 3Χ Ρ / Ρ  Χ = Ρ
,

ΠΒ/ > ,<Α ΒΠ
一

Ρ / Α3 ΧΡ / Ρ ,Χ = Ρ

Χ / / + − = Π/Ρ Θ+ 3 : ;ε
,

ΠΒ/ . + Ρ / 3Χ Π/
一

Ρ / Α 3Χ Ρ /Ρ ,Χ= Ρ Ν ;ε

Χ = Ρ ΠΒ / > / [ / 3/ 一

Ρ / Α 3Χ Ρ / Ρ ,Χ = Ρ Ν ;ε Κ(, ϑ<Χ = 一

Ρ + = Α
,

0 7 7 9 Ψ
5

Δ Β/ &3 <. Χ 3Ο 3 /> − ,Π> + Θ Α 3 Χ >>,Χ= Ρ Ρ / Α 3Χ Ρ Χ Π<+ =

Ζ /3 / 9 ; 00 >Χ,<= / 一Χ ,] Χ ,<Μ Χ Π<+ = Χ = Ρ Ρ / / 3/ Χ >/ <= Α 3 Χ >> ⎯ − Χ ,<
⊥

ΠΟ Χ = Ρ &3 + Ρ − / Π<[ <ΠΟ
5

∀Χ ,<= / 一Χ ,] Χ ,<Μ /Ρ Α 3 Χ > >,Χ = Ρ > Χ / / + − = Π
⊥

/ Ρ Θ+ 3 + = / ΠΒ <3 Ρ + Θ ΠΒ/ Π+ ΠΧ ,Χ 3 / Χ + Θ ΠΒ / Ρ /Α 3 ΧΡ /Ρ Α 3 Χ >> ⊥

,Χ = Ρ
,

ΒΧ ,Θ + Θ Ζ Β</ Β ΒΧ > 2 / / = Π− 3= / Ρ <= Π+ >Χ ,<= / 一 Χ,] Χ ,<
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= ,

ΟΙ 肋Χ+ 甲/= Α /≅ 滋

&Χ Π/ Β/ >
5

 = ΠΒ/ 07 9 ; 9 ,
ΠΒ/ 3 / Ζ Χ > 6 8 6 Γ 0 ;

Ν
ΒΧ + Θ Α3 Χ >> ⊥

,Χ = Ρ > , + Θ Ζ Β</Β 8 ;ε Ζ Χ > Χ ,] Χ,< Α3 Χ > >,Χ = Ρ >
5

Δ Β / Χ 3/ Χ + Θ

> Χ,<= / 一Χ ,] Χ ,<Μ ΧΠ< + = Ζ Χ > + = ,Ο 0;ε + Θ ΠΒ/ Π+ ΠΧ ,Χ 3 /Χ
5

?Ο

ΠΒ / / = Ρ + ΘΠΒ/ : ; ΠΒ // = Π− 3Ο
,

Β+ Ζ /[ / 3 ,
ΠΒ/ Χ 3/ Χ + Θ >Χ ,<= / ⊥

Χ,] Χ ,<Μ ΧΠ<+ = ΒΧ Ρ <= /3/ Χ >/Ρ Π+ Ξ 7
5

0ε + ΘΠΒ/ Π+ ΠΧ ,Χ 3 / Χ , + Θ

Ζ Β<Σ Β Ν ;ε 一 9 ;ε Ζ Χ > > Χ ,<= / 一Χ ,] Χ,<&ΧΠΣ Β/ >
5

∋ Π &3/ >/= Π
,

ΠΒ/ 3Χ Π/ + Θ >Χ ,<= / 一Χ ,]Χ,<Μ Χ Π<+ = ΒΧ > 2 / / = Χ // / ,/ 3Χ Π<= Α Χ Π Χ

3Χ Π/ + Θ 0
5

8 9ε &/ 3 Ο/ Χ 3
5

Δ Β/ Α3 Χ >> Ο</,Ρ Β Χ > Ρ / /3/ Χ >/ Ρ

2Ο Ν 9ε
, Χ = Ρ ΠΒ/ Α3 Χ > > ⎯ − Χ ,<ΠΟ ΒΧ > 2/ /= <= Σ 3/ Χ ><= Α ,Ο

&+ + 3/ 3
·

Ν
5

ϑ
5

1 9 ; 00 / 3+ ><+ =

Δ Β / ∀+ = Α= / = &,Χ <= 09 + = / + Θ ΠΒ/ ΠΒ3 // . Χ≅ + 3 Ρ <>Π3 <2− Π<+ =

3 /Α <+ = > + Θ 2,Χ /] 9 ; 00 <= ΠΒ/ Ζ + 3 ,Ρ
5

Δ Β/ ΘΧ 3. ,Χ = Ρ Χ 3 / Χ

Ζ Χ > 8
5

0: Γ ,; Ξ
Β Χ Θ3 + . >ΠΧ Π<>Π</ Χ,Ρ Χ ΠΧ

,

2 − Π ,+
5

6 : Γ 0; Ξ
ΒΧ

Θ3 + . 3 /. + Π/ >/ = ><= Α Ρ Χ ΠΧ <= Χ &3 / [ <+ − > >Π− ΡΟ ΚΦ ∋ ) #

Χ = Ρ Φ ∋ ) #
,

: ; ; 0Ψ
5

 = &3/ >/= Π >Π− ΡΟ
,
ΠΒ/ Π+ ΠΧ ,ΘΧ 3. ,Χ = Ρ

Χ 3 / Χ + Θ ΠΒ/ &,Χ <= Ζ Χ > 0 Ν
5

0Ν Γ  ∃吸Χ <= 4∃; ; 2Ο 3/ . + Π/

> / = > <= Α Π// Β= <⎯ − / ΚΔ Χ 2,/ ,Ψ
5

∃ Ζ <= Α Π+ ΠΒ/ 3 / Σ ,Χ . Χ Π<+ = + Θ

2,Χ / ] 9 ; 00 Ρ− 3<= Α ΠΒ/ &Χ > Π 1 ; Ο/ Χ 3 > ,

ΠΒ/ Π+ ΠΧ, + 3 ΑΧ = <Σ Σ Χ 3⊥

2 + = ΚΔ ∃� Ψ + Θ 2 ,Χ Σ ] 9 ; 00 ΒΧ > Ρ / / / Χ >/ Ρ 2Ο 9
5

8 8ε
,
ΠΒ/ = <

⊥

Π3 + Α / = / + = Π/= Π 2Ο ;
5

Ν 6 ε
, Χ= Ρ ΠΒ/ &Β+ >&Β+ 3− > Σ + = Π/= Π 2Ο

;
5

; Ξ ε
5

Δ Β/ 3/ . + Π/ >/ = ><= Α Ρ Χ ΠΧ + Θ>+ <,/ 3+ > <+ = , + 2 ΠΧ <= /Ρ

2Ο ΠΒ/ Φ Χ Π/ 3 Χ = Ρ 9 ; 00 �+ = >/3[ ΧΠ<+ =  = >Π<Π− Π/ + Θ � /<
⊥

,+ =
自<Χ = Α &3+ [ <= / / ,

<= Ρ </ ΧΠ/ ΠΒΧ Π ΠΒ/ / 3+ ><+ = Χ 3/ Χ + Θ2 ,Χ
⊥

Σ ] 9 ; 00 3/ Α <+ = > <= ΠΒ/ = + 3Π Β/ Χ >Π/3= � Β<= Χ 3/ Χ / Β/ Ρ Π+ 1 Γ

0;
Ξ
]3=

4 ,

2 / <= Α Ν 6ε + Θ ΠΒ/ Π+ ΠΧ , 2,Χ / ] 9 ; 00 Χ 3/ Χ
5

∃ Θ ΠΒ /

/ 3+ Ρ / Ρ ,Χ = Ρ
,
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